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Evaluate each of the following functions at x = —2.

bl. fIx) = 3x + 1 o

63. s(x) = x —|x| _;LL

b 5. y(¥(x)), where y(x) = x* — 1

¥

Give the domain of each function.

- LT a(x)=5x—1§<lx.:ﬂ2

69- o) = — _§_¥_\Li5}

3x

M. ex) = wC-Dhx-2)

» For 13- 715, Solve each syskm.

2x - 5y=9
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62. g(x) = 3x?
x—35

- Yy

b4, rin) = X

66, 1) =38 + 5% + 3 .2

68. k() =|x| _yx [x >I12}

0. m(x) = 3x
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2. bx) = VI T 6 ﬁY\ x> '3]
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A collection of coins containing dimes and quarters is

worth $3.45. There are four more quarters than dimes. Let g be the
number of dimes and g be the number of quarters.

716 . Write a system of two linear equations in two variables for the

given data.

11. Solve the system to find the number of each coin. d= T,

o For 18 479 It takes a plane 3 h to fly 480 km with the wind and
4 h on the return trip against the wind. Let x be the speed of the
plane in still air and. y be the speed of the wind.

79:. Write a system of two linear equations in two variables for the 3 ()“Hj) =450

given data.

4{ x-y)=450

.'7? - Solve the system to find the speed of the plane in still air and the

speed of the wind.

Graph each system of inequalities. /I
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Simplify each logarithm_
LT S
- ¥,

Q(o . logs _;_ = ; ?5 . Alng 128

: : 3. log; ()
99. logga __ ~2 Gl
89. logs 4 3
90 log,, 0.001 ‘7) g

“?l.log‘ﬁ-zl7

Solve.

qu-1°gsx=3 X"'s/g\

. Tt =
93. logxa— 3 A N

9%. log; 9 = x =4 : o
& F 99 log%x=——;-x;lb_
36 . dog, -L = & =Nz ' =
log, —= g _X 12 97. log} 10,000 = xu_
Express as a single logarithm.
9%. logs d — logs i ' n e
. logs d — log; i +log3k—log—3ln&0 3Ln 77.3—log3-r£3_s_r_.-b—

3 :
00.2logam + = \o : P
{ g2 + > logzn_f\zﬂﬂ_ 101. logb - 2]ogz !Og o

Solve for x. _
| O2%. log; x = log; 4 + log; 3 — logs 2 X ;!2
103. logs x = 4logs 2 + logs 5 — logs 4 x =20
10¢. logs x = %1035 9 + logs(x — 1) _Lf_a/_z_ 10k . logs(x — 4) — logs 3 = logs 2 x =10

_105. log; 3x* = 2 logy 24 — log:3 X & — ? 107, 2 logp(x + 1) — log, 4 = 0 X = |

jo¢ . The half-life of the Sulfur-35 isotope is 87.1 days. How much _
of a 2 g sample will remain after 100 days? ' 1. q 02 3,

109. Population studies of fiddler crabs on a tropical island reported
1.1 x 104 in 1980 and 1.5 x 104 in 1982. Predict the time that

the maximum population, 2.0 x 104, that can be supported by m" +
the island’s resources will be reached. o 0 :

}10. If Heather invests $2000 in a fund that earns 10%, compounded ¢ l‘+ 000
every 6 months, how much will she have after 20 years? {

- Simplify.
X .
S 2. In e% /7' 113. eln? ,_.8_.___
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Write-as a single logarithm.

B; 1 \ 2_7.*
Ji$. In4+1In3 -6 v llS‘.ZIn2+ln4__Vl____



